SHB3E3A3IE B

NIV T

RIS R AR

| ko8 | vememn | 658 |
T )l TR LT B 19-14t |
| mE | BRI |

HAIER
SDEIRYL | REE Y - )RR E A B B

REBH | ERBEERO B IR ERG CHEMN I 5 N/ fE

g - 5 BORERSR | 8720 ~  16:30
AEE  [1E - #iE - ERERS ®5 | (_ )
EAHERIER
EXS  HAbK HERR BB | —
- %BFE\Jrl_lIZtﬁ e [ SRS O [N hm@fﬁ )
Figtthisl | SE1REQ:E UK BEFERE | O TEEREHIEAT —
BYERR
BUthER 3,160n HEFRTER 1, 785n BEFE 19824E
(PfeEtth) ( 0o ) (NER) ( 0o ) &S BREaV o) — N
BEEK ik 2B T OB | yypoy— BWITAILA—9— — 20-7 O BEp k7 —
gl 0& il F9Y O ZBEMkAL O &¥FJOvY  —
"%
5H — R1 R2
= — 178 H 184 H
— 48 A 48 A
IREHE
MRS (PER) TEREAAER
FifE RIS BB 2 5l
"%
£ e |RAEME% £ mE |R2fERR
B=1 — — — | &=8 — — —
BE2 — — | — |&=9 — — | -
8=3 — — — |B=Z10 — — —
g=4 — — — |8=11 — — —
B=5 — — — |&=12 — — —
g=x6 — — — |B=13 — — —
g=7 — — — |B=14 — — —
wE




(B%8) IHFRELGE

R ~EHR

0+HM 0FH
- 22FH 3, 175F+H
— 22FH 3, 175FH
— 15, 404+H 12, 379FH
- 2,810F+H 3,272FH
- 1,235FH 958FMH
- 1, 547FH 5,634FH
- 1, 134FH 1,093FH
- 0+HM 0FFH
- 2, 142FH 4,815FH
= 24,871FH 28, 151+H
- 30, 716FH 14, 924FH
= -24, 850FH -24,976FH
IR

T =Y OB EAER

(A = HRENE ZHERER
: 0w
» " AKE
%0 4 O Z DB
20 B EKE
10 B EEERY
0 | | ShEEEER
R R2 8 Z OSSR
(ER) TEREESERK
OIRA oXH (IHEFEBLEER)
3,500FM 3,175 || 30,000 2871 28,151
2,500 20, 000FH L
2 000FF | 15,000F -
1’ gggig 110,000 L
500 - - 5, oooiPa -
: f 0FH x x )
VFe R1 R2 R1 R?




